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= f£[x_1 :=\1-x
In2:= Integrate[f[x], {x, -1, 1}] //N

oufz= 1.5708

@)= n=3;

inf4]:= Plot[LegendreP[n, x], {x, -1, 1}]
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5= xlis =x /. Solve[LegendreP[n, x] =0, x] // N

ousl= {0., -0.774597, 0.774597}

1
inel:= wli_] := * Integrate[
(D[LegendreP[n, x], x] /. x-»>x1lis[[i]])

LegendreP[n, x]

, (x, -1, 1}]
x-xlis[[i]]

inf7= Table[w[i], {i, 1, n}] // N

ou7j= {0.888889, 0.555556+ 0. 1, 0.555556 + 0. i}



2 | num_int_gauss_legendre.nb

n-1
In[8]:= Solve[Table[ (ww[j +1] » LegendreP[i - 1, x1is[[] +1]]]) =
j=0
Integrate[LegendreP[i -1, x], {x, -1, 1}1, {i, 1, n}], Table[ww[i], {i, 1, n}]] // N

outgl= {{ww[1l.] > 0.888889, ww[2.] > 0.555556, ww[3.] > 0.555556}}

ng)= a=-1.;

b=1.;

b+a b-a
xi[i_] ==[ . + *xlis[[i]]];
b-a &2

*Zw[i] * E[xi[i]]
i=1

ou[12)= 1.59162+ 0. i



